MIRDAERERE AT —HEB (HHN6F7TAFER

tel 011-851—-1972

600 700 800 900 1000 11:00 1200 1300 14:00 1600 1600 17:00 1800 1900 2000 21:00 2200 2300
| |
B|w
bbb b e b b b b b b b b b b b b e 4y L] B
— 28 1000~17:30
118 \\\\ plov:: \
2| w A \ZZ‘&F oo 21| B _ME%EQ12:OON17ZSI—|O e H2o—L
\ ES FyF 2-1 INFEF 2-1
PAL2IVR PARIYR 5 N = g B
3| % i A \§ az Neozzn | BX | P12IV255T A2 x| oz
\ o — B9 1200~1600 = |Ja=7H
41K ALK QiEF () 21| 5 X 2 ~OvA— Pl
N\ DYRAY Ly RY 21
\ — B8 1000~17:30 \
5 & \ N=NNUPYZ12 HORIZON \
— 13RI 1200~17:30 ;
6|t 2 \\\\\ PLA 2 . ﬁ;gfgﬂ Jr=wn2Ur /\‘~I\“JP‘JZOT\\\
. . N\ — 285 1000~1500 - TER#EAS s \
: X 16:00~19:15 -
N\ —#2B9HL 10:00~15:00 = ‘ % ] \
8| A \ K 258 5| =rovs- T
N\ = —ABEI 1200~17:30 \
ol w A wiF oo 22| 2 Pri 2oL PoOTLe
\ FyZF 2-2 | |/J\?$F 2-2 \
N\ —#88854 10.00~15:00 = i = . o \
10| 7k \ X FL25E X GESE WKy T =057
il xl s \gm: o 22| ® — B9 1200~1600 = [Ya=7H o
N\ X ouRtvrLwzy | X | 22
\ —#2B9HL 10:00~17:30
120 & [ AKX \ FYI2H-Z
13 £ | pm \ STids 27— = 91 00~15:00 hER&BAS15:15~20:15 5 \\\
. 1 19:@O~4 E30
ol T e NN BEEEAZ9:00~15:457 NN = ||~ NN
= — B9 1300~17:30 \
15| B 7 \ 8 X ARE K PA RN A%t D—=VRYZP
\ = —BEBSHY 12:00~17:30
16| W AR ZiEF (O 28 5 PERI—)U
\ FyZF 2-3 | |/J\§$F 2-3
N\ — 285 1000~1500 = s j
17| K \ K 258 X IN=IXUPYZ12 JIZwoR
\ o — B9 1200~1600 = |Ja=7H
18| K s ik (R 28| 5 X FYIR9-Z
\ DYMRAY Ly RY 2-3
\ — B8 1000~17:30
19| & [ AKX \ IN=NUPYZ12
20| p[#:: \\\\\ ﬁxz{\'ZH 2 E 355;5 =g J1ZwoRIr JrzunRJr PI0TUA
22| A e & E fE 8
N\ = —AEEI 12:00~17:30 - \
23| M gl LiEF (O 2-4f 5 w20 | |[vyvoscr-x
\ $y2F2—4| |/J\$$F 2-4 \
—12B81% 10:00~15: NN
oa| K Ak \\\\ 2B 10:00~15:00 % 2 % - A /\;JSP/X P \
o5 | £ \Q&F o 24| ® — B9 1200~1600 w [vaze] [
y af E - V525
N\ X UYLy | X | 24
—#&B9AY 10:00~17:30 P
26| & | ALK plAiz) \\\ . FYI25-2 " /\;JSP/X
\ —#BAM 1300~17:30 \
27| £ ya—HﬁE\ AL2E K plov:: JIZYORJIr PEDN R \
N\ — BRI 10.00~17:30 l \\\\\\\
28| B PN
N\ — B9 1000~1500 = . ‘ \
20| 8 N\ X nze | 2| zroun- TEEAS
\ 5 —#RB8E 12:00~17:30
30| W AR ZiEF (U 2-5( 5 PE20—)L 2B D2
\ FyZF 2-5 | |/J\§$F 2-5 \
N\ — 28 1000~1500 = s j \
31| K \ K ARE X 2 +OvA— J1ZvoR
||||||1||1|||||1||||1|||1||||1|||1||||1||||1|||||1||1||
600 700 800 900 1000 11:00 1200 1300 14:00 1600 1600 17:00 1800 1900 2000 21:00 2200 2300



